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Practice 7-3 with success criteria Name:

A cactus casts a reflection in a puddle at the same time when
Ahmad’s reflections was also casted. Based on the given
measurements in the picture, find the height of the tree.

1- Are the given two triangle similar? Justify
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What part of the figure are you solving for?

height of the Tree =AB.

3- Which property of similar figures are you using? ]
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A telephone pole is 10 meters tall casts a shadow 8 meter long at the same time a tree nearby casts a
shadow 14 meters long. Find the height of the tree.

1- Are the given two triangle similar? Justify
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